N of reco track vs dxy(PV)

tracks

N of associated (recoToSim) tracks vs dxy(PV)

)
2
S
8
o
S
=

fake tracks

N of associated (recoToSim) looper tracks vs dxy(PV)

duplicate tracks
=
S
L

1072

107
8 8 S 1
K] T 3
14 14 @
0.5
L = R R R B0T52168 0 5 10 1520 25 15050 5 10 153025 J5=30-15-10 =5 0 5 10 15 20 25
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
DOM_VOU0T_RO0000000T _Global__cmssw1000lime  RECO
—— DQM~V0001~"R0O00000001Global—_mkFitNewOLD1000time__ RECO
N of reco rackvs 4 ——— DOM V0001 "R000000001~Global—mkFitNewTEST1000time _ RECO e
[ I ] 2 2
[} - [} Q Q
g g g s
(4] [} Q
2 F10? 8101
=
=]
=]
10 1072
E: Il 1073
o T B L ° g - e 1
3 1 A B 3 8 g
14 | R @ 14 4
L1 Ll L
..l“. ostd i o LG LEE Fy SUUR PR DU TUUE DU U U SUN SON
-1-0.8-0.6-0.4-0.2 02040608 1 . =1-0.8-0.6-0.4-0.2°0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
R g L 2 F
[5} [=} [5} Q
[ 8 8 8
£ s s 3
E10? 8 8107}
=
=]
el
1072
L . 2 2
I : T I
14 l @ o
2‘0 30 20 30 -30 —2‘0 —iO 5 llO' 2‘0 30 —(‘30 —2l0 —iO 0 1b 2‘0 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2 2 kY 2 F-
Q [*] Q Q
8 8 g 8
[ Q Q
= E10 5
2
=]
1 k=l
10 1072
: : ﬂ: : 10°
M H iy I M z 3]
8 2 L 4 ] L8
g 5] g -4t B | SRR R .- 54 :
14 @ x @ .
e A =Bt - - -- 0.5F - 4= -+ R LR Y EEREREE LR
0.9F - +{f - - HH
. ] H H ob i H H

0 0.5 1
track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

0.5 1
track dz(PV) (cm)



	Contents
	Page 1


